Приложение 2

Контрольная работа № 3

Вариант № 1

1. Сократить дробь: 

          а2 – 1__ 

      а2 – 3а + 2

2. Вычислить: 

__1__    + _√2__    -   _4_
     √3 - √2     √6 + 2)      √3 - 1

 3.Упростить: 

                      

 х   +   3х2 + 36х + 81   -   х3 - 27

               х2 + 3х                х2 – 3х        ∙ х 
4. Упростить:

       х – 4_   +  х + 2х 0,5  - 2х 0,5
    х 0,5 – 2         х 0,5 + 2

5.Упростить:

            а√а + в3/2        +      2√в       -    √ав
      (√а + √в) (а – в)          √а + √в       а - в

Вариант № 2

1. Сократить дробь: 

          а2 – 30а +144__ 

              а2 – 36

2. Вычислить: 

  2√2     + _  3__    +   _5√2      

√6 - 2       √3 + √2      √6 - 1

 3. Упростить: 

               х2__   -   __2х ___    ∙   1 +   3х + х2 
           3х  - 18      х2 – 5х- 6                3 + х
                                     х

4. Упростить:

     2х0,5  + х   +     х – 4_     +  2

      2 + х 0,5         2 + х 0,5 

5. Упростить:                                                      -2
   2(х2 + √(х4-1)) ∙    √(х2 + 1)        +   √(х2 - 1)
                                      3√х                     3√х 
Вариант № 3

1. Сократить дробь: 

2xy – 2x  - y +1 

          2x2 + x - 1
2. Вычислить: 

     1  __   + _  1__    -         2__      

√5 - √2       √5 + √2       3√5 - 6

 3. Упростить: 

       x ∙       х - 5__  +   4 (х + 1)   ∙        х3 – 16x__ 
               6х  - 3x2        х3 + 4х2           9х2 – (x+4)2
4. Упростить:

        х – 9   -     х – 3 х 0,5    -  3

     х 0,5 - 3          х 0,5 - 3

5. Упростить:              
           1        -     a2 + 4_        ∙        a_   -    1_  +  1_
        a + √2       a3 + 2√2                 2         √2       a
Вариант № 4

1. Сократить дробь: 

      a2 – 4a + 4___ 

      a2 + ac2 – 2a – 2c2
2. Вычислить: 

     3√3__  + _  3√2__     -         2__      

√15 - √6         √10 + 2         √5 - 2

 3. Упростить: 

       2х2 _ +          4х___   -      4х2 _ 
      х  - 2        х2 - 5х  + 6      3х – 9

4. Упростить:

            4 – х2 ___  ∙      х 0,5 + √2     
     2 + х + (8x)0,5          х 0,5 - √2

5. Упростить:              
                                                                   -1                                       

       (√(x +1) + √y)2 + (√(xy + y) – 1)2     

                               y + 1         

Дополнительное задание

Упростить:

                                                                                   -1

                               1- х2_______________  + 1 

           1 - х√х  + √х     ∙    1 + х√х  - √х                          ∙            1 _____
            1 - √х                     1 + √х                                        √(1 – 2х + х2), при х  > 1

